Socrates’ final argument (in the Phaedo) for the immortality of the soul

Definitions:
Ss: Socrates (s) has a soul

Ls: Socrates is alive

 “___(…” is the conditional sign; it’s read as “If ___, then …”, or “If p, then q”.

(p: It’s necessary that p = It must be the case that p
For a proposition to be necessary, it both must be true (i.e., can’t possibly be false), and is also always true.

Thus “Socrates is immortal” (= It’s necessary that Socrates is alive) is symbolized as “(Ls”.

(1) The following argument appears to be the one that Socrates gives, but is invalid:

P1: It’s necessary that (if Socrates has a soul, then Socrates is alive).

P2: Socrates has a soul.

C: It’s necessary that Socrates is alive, i.e., Socrates is necessarily – and hence always – alive.)
The inference from (P1) and (P2) to (C) would be expressed as “Since P1 and P2, it must be the case that Lx”, where the conclusion is “it must be the case that Socrates is alive.”
In symbols, argument (1) would be:

P1: ((Ss ( Ls)

P2: Ss

C: (Ls

(1´) That this argument is invalid can be seen by the following, parallel argument:

P1: It’s necessary that (if I have 5 nickels in my pocket, then I have 25 cents in my pocket).

P2: I have 5 nickels in my pocket.

C: It’s necessary (and hence true at all times) that I have 25 cents in my pocket.

Here’ argument (1´) in symbols:

P1:  ((I have 5n in my pocket ( I have 25c in my pocket)

P2: I have 5n in my pocket

C: ((I have 25c in my pocket)

Although “I have 25 cents in my pocket” does necessarily follow from (P1) and (P2), the conclusion “It’s necessary that I have 25 cents in my pocket” does not follow from these premises. After all, there’s not necessary that I have any change in my pocket at all: how much I happen to have is completely contingent, i.e., could be different.
Since argument (1) is invalid, let’s try another way of interpreting Socrates’ final argument for the immortality of the soul.

(2) The following argument is sound, but concludes only that x is alive, and not that x is immortal:

P1: ((Ss ( Ls)

P2: Ss
C: Ls
Like the previous one, this inference would also be expressed as “Since P1 and P2, it must be the case that Lx.”  But here the conclusion is just “Ls;” the phrase “it must be the case” expresses the (correct) claim that the argument is valid (but not that the conclusion is necessarily true).
(3) The following argument is valid, but commits the informal fallacy of begging the question.  That is, it fails to do what arguments are supposed to do: give someone a good reason to believe something that they don’t already believe.  After all, no one would accept P2 who doesn’t already accept C:

P1: ((Ss ( Ls)

P2: (Ss
C: (Ls
Thus, however we try to interpret it, Socrates’ final (and supposedly best) argument for the immortality of the personal soul fails.
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